21,
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24,

25,

26.

27.
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Pracovni list - rovnice

Reste rovnice:

a) 4x + 2 = 3x + 5,
b) 8x + 3 = 5x + 6;
C) du-+ 15 = Tu;

d) 3a — 19 = 7q + 31;
Reste rovnice:

a) x—7+8x=9x—3-~4x;

b) 11y 4 42 — 2y =100 — 9y — 22;
€) 3t — 20 + 6r — 2=8t—10 + 2t;
d) %x‘+21—~%}x-2=3ix—5;

e) 10y — 5=y 4 4;
f) 32=52—10;
g) 9n = lln 4 6.

1€) 026 —b =91 0,65 — 0,55

£) 0,752 +2 — z = 2z 41+ 0,752,

. Relte rovnice:

a) B¥L 2= _{ 3

b) ¥~ 7=2x— 17;
Reste rovnice:

2) 5(x — 1) = 30,

B) 3(y — 5) + 8 — 17;

¢) 24 = 8(6 + n);

d) 9~ 5z —2)— 11,
Rete rovnice: :

a) 15(x 4 2) = 6(2x + 7);
b) 72y + 3) = 7(y + 17);
<) 809 + 2p) = 52 — 3p),;
Reste rovnice:

a)s— (=1 = 0,56

b) 1}x — 78 = 51,

€©) =08 — 5y =}.(—2);
Reste rovnice:

a) %—2=f55
b) 0,6x — 4 = —2,8;

<) %-k 1 =—-‘3;_» i
d) 8m + 3 = —29,

1€ 3(r—1)= 2’("‘ 4 3);.
£) (2a — 1).9 = 36;
8 (x+8)= 320 — 2x);

d) (27— 9).5 = 3(9 — 22);
- €) 2652 —3) = (24 2).7;

o d) 1%——7n=——3%:%;
e) $3astl-00,1;
") 4t Ho = 51— 47,

c) -?51 +o==7
d) 0,1 — 0,01x = —1,

b) 3(24v + 8,3 + 1,50) — 0,9,

£) 6(m +2) — 9m — 1) = o,

2. Refent rovnic (2. &4st)

Rejte ndsledujict rovmice o Dresvédite se vidy o sprdvnosti Felens,

La)yx+15=5]; Qx—1=—1; -

D)y+2=—2 d)2z—z=0.
- 2..3) r=14 c) 3 = 8x;
- b ix=1 d) a=2a— 19,

3. x+2x~—5+3x+ 10~.—4>x‘=x+6.
4.¢a):4x—2=3x+5; “\'e)\loy'—4'==y+4;
\b)8x~3=5x+6; f) 32=52 -1,
$C) du+5= Ty : g) 8n = 1ln 4+ 6.
d)2a—-19=174 315 . _
5. 2):2y — 1) — 3(y — 2) 4 4(y — 3) = 2(y + 5);
«b) x — 4(x — 11) — 5(x — 16) = 4(x — 5);
«C) 10u + 2(7y — 2) = 5(4u 4-'3) + 3u;
d) 8(3z — 2) — 13z — 5(12 — 32) 4 723
€) 2(3x — 10) — 27 + 3(10 — 2x) = 0.
6. a) 3(2x — 1) — 5(x — 3) 4- 6(3x — 4) = 83; ,
D) Xy +2) = 72y — 1) = 30 93y —4);
) 8(7 — 4x) — (4x + 1) =19 — 5(8x — 1);
4 32r + 1) + 7(6r — 1) = 5(12r —7) 4 23; ;
e) 4z — 5) 4 2(r + D—7¢—9+ 12(:-8):8@——3).
T 8)(x + I)(x — 2) = (x — 3)(x + 4);
b) 312 — (3u 4 2)(u — 1)=8:
) (y+ DG +2) — (v = 3)(y + 4) — 6;
d) 3z — 1)(2z +- 7N —16 = (z + 1)(6z — 5);

¢ € (Bx—2)(2x + 3) — (6x2 — 85) = 99,

8L r(Tr + 21) = 7(r 4 1y
b) x? — (x — 2)2 = 16; ‘
) (m— 3= 10 4 (m — 5)(m — 2);
d) (3 + 5)(3p — 5) — (3p = 1)? = 10;
e (x + 5)(x + 2) —3(4x — 3) = (x — 5),

9 a) (v+ 2+ 8) = (v — 10)2;
D) (x —3)x 4 4) — 232 —2) — (x — 4)
¢ 2(z+4 324 8= 2(1 — 2)2 - 8z,
D Gy + 20 = 3y £ 19 1 (49 — 131,
e) (x4 2)(x — 12 = x(x2 — 4) 4 4.

10. 2).3(x — 1)2 — 3x(x — 5) = 21;

b) dm(m —'1) — (2m +5)2m — 5) = 1;
) 5x — 3(x — 4) — [2x — (x + 5)+ 8] = 0;
d) L,3(x — 0,7) — 0,12(x + 10) — 5% = —9,75,
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